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 87 − 6𝑎 = 54

 
76+5𝑏

4
= 3𝑏 − 2

 
8𝑐+9

𝑐+8
= 𝑐

 √5𝑑 − 6 = 7
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 𝑐 𝑑
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 𝑐: 𝑑

 𝑐 𝑑

𝑐 𝑑

𝑔 = 4.5 ℎ = 0.6

 𝑔ℎ
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 𝑎 + 2(3𝑎 − 4) + 5 = 6(𝑎 + 7) − 8𝑎

 

 5𝑥 − 4 ≤ 3(2𝑥 − 1)

 6 − 7𝑥 > −8

 

𝑗 𝑘

 𝑗 𝑘

 

 

 

 3𝑗 − 4𝑘 = 18

 

 

 



𝑎, 𝑏, 𝑐, 𝑑 𝑒

𝑄𝑅𝑆𝑇

𝑄𝑅𝑈

𝑇𝑈𝑄, 𝑇𝑈𝑆 𝑆𝑈𝑅

𝑃𝑄𝑅 𝑇𝑄𝑈 = 80°

𝑎, 𝑏, 𝑐, 𝑑, 𝑒 𝑓

 



𝐹𝑖𝑏𝑜𝑛𝑎𝑐𝑐𝑖

1 + 1 = 2,      5 + 8 = 13,      34 + 55 = 89 

 𝐹𝑖𝑏𝑜𝑛𝑎𝑐𝑐𝑖

𝐹𝑖𝑏𝑜𝑛𝑎𝑐𝑐𝑖

𝐹𝑖𝑏𝑜𝑛𝑎𝑐𝑐𝑖

3 × 13 = 39 5 × 8 = 40

34 × 144 = 4896 55 × 89 = 4895

 21 × 89 = 1869 34 × 55

8 × 34 − 13 × 21 + 13 × 55 − 21 × 34

𝐹𝑖𝑏𝑜𝑛𝑎𝑐𝑐𝑖

2 + 3 + 5 + 8 + 13 + 21 + 34 + 55 + 89 + 144 = 374 = 11 × 34 

 𝐹𝑖𝑏𝑜𝑛𝑎𝑐𝑐𝑖

𝐹𝑖𝑏𝑜𝑛𝑎𝑐𝑐𝑖

𝐹𝑖𝑏𝑜𝑛𝑎𝑐𝑐𝑖

12 + 12 + 22 + 32 + 52 + 82 + 132 + 212 = 1 + 1 + 4 + 9 + 25 + 64 + 169 + 441 

= 714 

= 21 × 34 

 52 + 82 + 132 + 212 + 342 + 552

 



 

𝑝, 𝑞, 𝑟 𝑠

𝑝 𝑞 𝑟 𝑠

 𝑝, 𝑞, 𝑟 𝑠

525 = 3 × 52 × 7 

252 × 525 = 132300

 

 

𝑎 ℎ

 𝑎 ℎ

2𝑎 = 13ℎ + 4

 𝑎 ℎ.

 𝑎 ℎ.
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